
 101

111Pf 笳 拟5_ i 㖌和⼀ ⼗笳 奖
⼆ Ìlfhtf ⼼ f 10

2 华㖌州_exists f isdifferentialat co

It'snottrue the fix 1 1

10.3

pflfm YHYHM flaj flanx afH al.lt器fiay.IM9叫 1州 M⼊⼼川⼆ Hall 䂬⼀川
Thenforany H
apo.HN9叫 H刚 4刚进 洲嘉州 1啠𡒊 北川

Bythedefinitionofthe limit we onlyneed toprove that

噐1器⼀川 㗊㦓礜北川⼆ 0 以 州中肶 州
等 isdifferentiable at a_

Gel WhenMt fu 笳⼬嘉⼀川⼆⼗ so

Case2 When µ 州
⼊州中Hal 抑 ⼊⼗批 多是他装⼀川

⼆ 㗊 H䢉⼀川

⼆ Ifla ⼀⼊ 0
⼝

10.5 5例 然㼦 0d t1加以以 州北川 o 努譽 0

Pf
Wedefine a function9内 签

xgabJ.co加 a



It'sobvious that 9刚⼆架 is differentiable on JabJ

Since 1㗊 ⿊趱
0 1㗊 然𡒊 f a 0 9 iscontinuous at a

Thus 9ECDabDnc.la则 andgun 9 b 0 wehave

gig 0 forsome CEJab
Since 9仂 5 ⺮奭以业 t以

⼀
㗎想 i we have

fun_ flit 0 12

10.7

Pf Define 9吅 㔟 劜了0到 then91加ECGĪD by 1㗊 㔟 1
1 X 0

⽐ 70订 9例 i
x S动

⼆
⼒⼀

答
Since lx tanxlzl llttarixjz tamxo sx tanxso tanozo.lt x EJo汀

Wehave 9仂 to UXEJo事了 then

I 911 E9分 E910 1 12

10.9 Here I a以

Pf Wemayassume that fb 3fla Otherwise replace f by f
ThusWeonlyneedtoprove that flbj flakglD glajie.flb glbkflaj g.la
Since 姒 9刚 E H叫9忇 ⼆0 on Jab I wehave

flbj glbJEf.ca glb 12

10.11 罗钧尺

Pf
fix 亦成 à 九邓⼒ 30 以 30

Now weprovethe consequencebyinduction on new



Nw wei e the q e y i d n n N

If itholdsfor nsk then

f动⼒ 则iǚi 脚 脚

只
Hence f以30 焖 so Un EN

10.13 Vxt I ⺕SEI St

和以⼀ 罚___ 不加了
⼆ 0

Pf If 加加 for me tin it'snothing toprove.Herewealwaysassume that

XE II 伽 加了

Wedefinegg ECMI St
9咖 fly 1尛尔以加 以加 19 加

Then glx 9刚 9咖 0

Let ⼒加 加了 来 ⼀ 不可 St 加 不

9时 ___ 91分㖄 0 ⺕以EDT不 1I kktns.tn

9例 9Yyn 0 and yic

ccyn.ES⺕和C yk.yktlI.kktn IS.to
9叫列 9⼼⼝侧 0

werepeattheaboveprocessandfinallyget a number SEI St

9哬 0

0 9川纼 f 𠇁⼀ 哭PǛy ⼝

10.15



Pf Define flight 器了 XEIA.to then

fix 291 y刚 29个加 以 9加 y刚2.9例
91加12

了
yxj.yyt zyYN yy.cn Fly刚

2
9忇

幼⽔
以喊毙 之0 HE T.AM I

VXEIA.to
921 f刚上HA is finite

MmkATA U⼒ A 12

10.17

A
出别𠠬 㗊中璺尴劉劗 冰

⺕Now trust

1器 幽以 1 nn cpiuny luno

qnklunCPMNo.cl so which is a contradiction

i

2 pf
点骂Un C ⺕notNS.t.un C otherwise unto 讥⽐ this a a contradict

unfmiunoj fnnocc.ie Unisno
Converse is obvious

B Pf
Define f咋 4劜⼘⼒ H ⼒也⼒ 0or É
Since If灲 4 1 If吲 14 8 2 1 Weonlyneed toprove
that unto lunt knew



o fxkl.UXEloij0T ot.am KntN yto ltnEN

It's easy to see that unc Q.tn why induction

If Uno j forsome no EN St Untf Um no then
Unoy⼆产

⼆ 4unozcl Uno zfjiun.it
which is a contradiction

12

10.19

pf.li
x E Ii 1 zxc IE.DE Ii⻔

psinzxss.in27 年

2

Case I un.EU⻔forsane noEN.NLOh wemayassume that not
It'seasytoseethat Unit𤦷 try by以
Since isin功 2on then

1 2的 242的功 ⼆2cost斩 0 KXET.fi⻔

luntl unliclun un.tl forsaneconstant 0 4

hiunkcnluuol
luntp unkgluntktl

untklsgentklu.no

Cl lu uoK 1a uol

⽐70 ⺕notNS.t Vn no

kElN8t.lunp unKE



1 1 1
lung is a cannysequence

unsuoforsomeu.EU⻔ st.sinzuo

uo.ae2Unni ⻔ ltnc

NuocT.no i u ⽐⻔ ⽐ ⼀了
union 可以坐啊

until Un EN

Define flxks.inx_x 加 0年了 then fix 江⽵功 1
拗 0 on To可 and f刚 count 到
州 j on Io il and Ht on Ǘ 划

Since toko and 姬 1 年 70 wehave

f 30
and fix 0 也 不 0
unn urisinlunj un.io

un T Un is boundedfromaboveHE
⺕ aoEIugs.t.ms a
a 1晶 Un⼆筋 sinzun

sinzaoIfu.it0then a⼆点吗Uns up0 Whichcontradicts to theabovefact
Sin动⼀加0 onTo划为 x 0

u 0 u 0orz
In summary whenuo oori.un o.tn

lWhenuotoE unsC forSomeconstantcst.sinzcicfcc.IE1


